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1 (105)" is equal to

(a) 1158625 (1) 156325 (¢) 1157625 (@) 1155625
2 Fill up tho gap?

6 20 230 a2l

2 @2 14

@ 8 ) 72 © 7 @ 81
3. 1 n s @ wholo number, né(n® - 1) is always divisible by

@ 12 ) 2 (c) 36 4

2 x (128)%

e

@ 2 )4 (©) 3 s
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5. Mohan sold two horses for Rs. 15000 each. On one he gained 20% and on the other he lost 20%.
Find his total loss or gain.
(8) 1200 (b) 1280 {¢) 1300 ) 1250
6. At what rate percont per annum will 4 sum of Rs. 4000 yield compound interest of Rs. 410in 2
years.
() 5% b) 4% (e) 10% (d) 6%
7. The sum of two numbers is 45 and their ratio is 7 : 8. Final the numbers.
(@ 21,22 b) 25,26
(c) 20,21 d) 21,24
8 The porimeter of a rectangle is 640 m. and the length i to the breadth as 5 - 3, then ‘what will be
its area?
(@ 2400 mt ) 24000 m
fe) 2500 m* (d) can't be determined
9. Ratio of the area of two square is 25 : 9, Find the ratio of their perimotors,
(a) 5:9 ) 9:s le) 5:3 ) 3:5
10. The surface of a cube is 1176 cm?. The volume of this cube is. .
(a) 7056 cm? (b) 4704 cm* (€) 2744 cw’ (d) 3528 cm?
1. 300m from the foot of a cliff on level ground:the angle of elevation of the 10p of a cliff is 30° then
height of the cliff will be .
(@) 200/5m ®) 1003 m
(@) 3003m @) 1505 m
12, From the diglt 1, 2. 3, 4. How many numbers of 3- digit can be formed?
fa) 12 ) 18 ) 24 {c) 36
1. A= {1,234, 5). How many possible no. of subsets can be formed from sot A?
() 16 ) 24 (c) 30 @) 32
4. From the given figure, what will be the value of x
SRy,
2¢°, \2X~ 5°
(a) 45° b) 60* () 75° (d) 3o
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@ oo ) a0 @ 50"
5¥1 5-1 o +ab+b?
16 e = Yot d e V3L nen tho value of g
2 U T R S
@ a ) 197 © a5 @
17, 1T DEAR is coded 25 FGGT, then how will READ bo coded a5
(o) TGCF ) FCCE (@ TSFC @ TC

1. 1f duy bofore yesterday # was Monday. What day will fall on a day after tomorron?
(@) Sunday () Friday (©) Surdsy (d) Thursday

19, 1F AT = 20, BAT = 40 then CAT will be equal to:
(@) 30 () 50 (©) 60 @) 70

20, Complete the series.
9,12, 13, 14,19, ). 15
@ 12 ®) 16 (© 10 @ 17

L@ z®b %@ e @ 6 @ 7 (@
o @ 1.9 mb) 12(@ 3@ b)) 156
7.0 180 w00 20.0)

8. (b
16. (b)





